NATIONAL CERTIFIED TESTING LABORATORIES

FIVE LEIGH DRIVE -+ YORK, PENNSYLVANIA 17406 -+ TELEPHONE (717)846-1200
FAX (717) 767-4100

www.nctlinc.com

Florida Building Code TAS 201-94
Florida Building Code TAS 202-94
Florida Building Code TAS 203-94

STRUCTURAL, IMPACT & CYCLING TEST REPORT SUMMARY

RENDERED TO:

Acurlite Structural Skylights
1017 North Vine Street
Berwick, PA 18603
PRODUCT TYPE: Fixed Skylight Assembly

SERIES/ MODEL: “Secure Series”

Summary of Results

Specimen 1 TAS 202 +80.0 psf - 80.0 psf

Specimens 2, 3, 4 TAS 201/203 +80.0 psf -80.0 psf

Air Infiltration per ASTM E283 in accordance with TAS 202-94
Infiltration: 0.08 cfm/ft?

Water Penetration Resistance per ASTM E331 in accordance with TAS 202-94
12 psf - Passed/No water penetration

Static Air Pressure per ASTM E330 in accordance with TAS 202-94

Design Load Pressure +80.0 psf -80.0 psf

Overload/ Structural Load Pressure +160.0 psf -160.0 psf

Forced Entry Resistance per ASTM F588 in accordance with TAS 202-94
Passed — Grade 10

Specimens 2,3,4

Large Missile Impact/ Pressure Loading in accordance with TAS 201-94

Impacts rejected without allowing penetration and the product shows no resultant failure or
distress

Test Completed: 11/19/19
Revision Date: 01/05/22

Reference must be made to Report No. NCTL-110-20884-1 dated 12/17/19 for complete test specimen
\\\\\\\\“””II[////

description and data. W Ha »
N PHA. 7,
ST,
For National Certified Testing Laboratories S\\ S\ & 2
/ Sx No.58920 %k Z
g g = 2
Sy Ay Sy * el
//melTAL SIGNATURE :/ w STATE OF LU S
2/(9(\ A ™ %Q/ \S
Justin Bupp ////,/f(\ S‘/( 0 R\Oee\\\\\\\\
Laboratory Manager 7, 2TON AL B o
y g /////l””,'\{(lb‘\“\“\\\\\

S ek

Professionals in The Science of Testing 2022.01.05 08:50:19 -05'00"



Q NATIONAL CERTIFIED TESTING LABORATORIES
‘ FIVE LEIGH DRIVE -+ YORK, PENNSYLVANIA 17406 -+ TELEPHONE (717)846-1200
FAX (717) 767-4100

Florida Building Code TAS 201-94
Florida Building Code TAS 202-94
Florida Building Code TAS 203-94

STRUCTURAL, IMPACT & CYCLING
PERFORMANCE TEST REPORT

NCTL-110-20884-1

REPORT TO:
ACURLITE STRUCTURAL SKYLIGHTS

1017 NORTH VINE STREET
BERWICK, PA 18603

REPORT NUMBER: NCTL-110-20884-1
REPORT DATE: 12/17/19
REVISION DATE: 01/05/22
PRODUCT TYPE: FIXED SKYLIGHT ASSEMBLY

SERIES/ MODEL: “SECURE SERIES”

Professionals in The Science of Testing



NATIONAL CERTIFIED TESTING LABORATORIES

FIVE LEIGH DRIVE + YORK, PENNSYLVANIA 17406 + TELEPHONE (717) 846-1200
FAX (717) 767-4100
www.nctlinc.com

Report Number NCTL-110-20884-1

Report Date 12/17/19

Revision Date 01/05/22

Report To Acurlite Structural Skylights

1017 North Vine Street
Berwick, PA 18603

Date Testing Started 10/14/19
Date Testing Completed 11/19/19
Specification: Florida Building Code TAS 201-94

Impact Test Procedures

Florida Building Code TAS 202-94

Criteria for Testing Impact and Non-Impact Resistant Building Envelope
Components using Uniform Static Air Pressure

Florida Building Code TAS 203-94
Criteria for Testing Products Subjected to Cyclic Pressure Loading

Description of Specimen Tested

Note: All dimensions are in the order (Width x Height x Thickness) unless otherwise noted.

Model/ Series “Secure Series”
Configuration Fixed Skylight
Frame Size Overall

Specimen 1 (sloped)
4331 mm x 3324 mm (170.5" x 130.875") high by 2235 mm (88") deep

Specimens 2-4
4331 mm x 3324 mm (170.5" x 130.875")

Viewing Area All Specimens

Large Fixed
1324 mm x 2457 mm (52.125" x 96.75")

Small Fixed
1324 mm x 1194 mm (52.125" x 47")

Specimen 1
Gable End

2032 mm x 851 mm (80" x 33.5")
Frame Type Extruded aluminum
Joint Construction Frame
The verticals were fastened to the horizontals with (2) screws. The purlins

were fastened to the verticals with (6) screws and a metal mounting lug
that was fastened with (3) 3/8" bolts.

Professionals in The Science of Testing



Acurlite Structural Skylights

Glazing Components
Overall
Glass Thickness

Laminated Glass

Spacer Type/Size
Glazing System

Weatherstrip
Operating Hardware

Auxiliary

Type
Location

Type
Location

Type
Location

Type
Location

Reinforcement
Weep Description
Size

Location

Interior/ Exterior
Surface Finish

Sealant
Location

Material
Insect Screen

Installation Method

NCTL-110-20884-1

33.02 mm (1.300") nominal

(1) Lite of 6 mm (0.220") nominal tempered glass to the exterior and (1)
lite of laminated glass to the interior

(2) Lites of 6 mm (0.220") nominal heat strengthened glass separated by
a 2.29 mm (0.090") “SentryGlas Plus” interlayer

14.73 mm (0.580") Aluminum spacer (Type A1-D)

Exterior glazed with a multi-fin gasket back-bedding and a screw applied
pressure plate with (2) strips multi-fin gasket. The 1/4 - 20 x 2 1/2 HWH
type F and 1/4 - 20 x 3 HWH screws were located 64 mm and 70 mm (2.5"
and 2.75") on center at the rafter and left purlin. The horizontal sections
were sealed with structural silicone at the exterior

No weatherseals employed

No operating hardware employed

Extruded aluminum flashing
Exterior perimeter of the sample

Extruded aluminum/ plywood panel fillers
Back side/ close off of mock up to chamber

Extruded aluminum glazing adaptor
Horizontal members fastened with (9) screws

Extruded aluminum “purlin” pressure plate screw adaptor
Gable end fastened to the frame with evenly spaced screws

No reinforcement employed

19.05 mm (0.75") Gap in sill pan sponge gasket
Sill/ rafter intersection

Painted aluminum

Exterior perimeter of the glazing, horizontal member back-bedding
flashing to frame
Silicone

No screen employed

The assembly was installed in a steel/ plywood test chamber. The
assembly was fastened to the chamber with aluminum angles at each end
of the rafters. The angles were fastened to the chamber with (2) 1/2 - 13
x 1 —1/2 grade 5 Hex Hd per angle. The rafter was fastened to the angles
with 2 1/2 - 13 x 4 1/2" long Hex Hd cap screw with lock washers and nuts.
The gable end was fastened with aluminum angles at the sill and (2) 1/4
bolts and nuts.



Acurlite Structural Skylights

Test Results - TAS 202

Test Method

Test

ASTM E283

Air Leakage Resistance

Information at 1.6 psf:

Maximum Allowable

Infiltration Rate/ Area

0.30 cfm/ft2
0.08 cfm/ft2

Test Method

Test

ASTM E547
ASTM E331

Water Resistance Test

The test specimen complies with the requirements of TAS 202 at 5.0 gph/ft?

No Leakage after 1 cycle of 15 minutes at 12 psf

Test Method

Test

ASTM E330

Static Air Pressure Tests
Half Test Load - + 60 psf

Positive
Negative

Design Loads - + 80 psf

Vertical

Measured Deflection positive
Measured Deflection Negative

Measured Permanent Set positive =
Measured Permanent Set negative

Horizontal

Measured Deflection positive
Measured Deflection Negative

Measured Permanent Set positive
Measured Permanent Set negative

Measured Deflection positive
Measured Deflection Negative

Measured Permanent Set positive =
Measured Permanent Set negative

Test Loads - + 160 psf

Vertical

Measured Deflection positive
Measured Deflection Negative

Measured Permanent Set positive =
Measured Permanent Set negative =

Horizontal

Measured Deflection positive
Measured Deflection Negative

Measured Permanent Set positive =
Measured Permanent Set negative

No damage
No damage

0.088 inches
0.097 inches

0.003 inches
0.011 inches

0.011 inches
0.027 inches

0.012 inches
0.028 inches

0.261 inches
0.018 inches

0.011 inches
0.006 inches

0.188 inches
0.019 inches

0.173 inches
0.112 inches

0.066 inches
0.019 inches

0.026 inches
0.011 inches

NCTL-110-20884-1



Acurlite Structural Skylights NCTL-110-20884-1

Purlin
Measured Deflection positive = 0.087 inches
Measured Deflection negative = 0.112inches
Measured Permanent Set positve = 0.016 inches

Measured Permanent Set negatve = 0.009 inches

NOTE: Deflection and Permanent Set measurements taken on the vertical, horizontal and
purlin with a 0.4%/ 10.46 mm (0.412") for the vertical, 5.28 mm (0.208") for the
horizontal and purlin permanent set limit.

NOTE: Upon completion of testing there was no structural distress indicative of failure

Test Results - TAS 201

Test
Large Missile Impact

Type and weight of missile
#2 Southern Yellow Pine 2x4, Length 102" & 9 Ibs Speed 50.0 ft/ sec.

Location

Specimen 2

Impact Center of Left Lite Glazing

Impact Lower Left Corner of Left Lite Glazing
Specimen 3

Impact Upper Right Corner of Center Lite Glazing

Impact Center of Center Lite Glazing

Impact Midspan of Left Intermediate (Vertical) Glazing
Specimen 4

Impact Bottom Left Corner of Left Lite Glazing

Impact Left Lite Glazing

Impact Midspan of Horizontal Intermediate

NOTE: All missile impacts were rejected without penetration, tearing, or separation of the
laminate. Shattered sacrificial and laminated glass. No visible damage to the
frame was observed.

Test Results - TAS 203

Test
Cyclic Wind Pressure Loading

After completion of the impact tests, the test specimens were pressure cycled in
accordance with Table 1626 of 2017 Florida Building Code Building.

Maximum Cyclic Load Test Pressure: +80 psf & -80 psf

Specimens 2, 3, 4
Positive Load

Range of Test Actual # of Cycles
+0.2 to +0.5 DP 16.0 psf to 40.0 psf 3,500

+0.0 to +0.6 DP 00.0 psf to 48.0 psf 300

+0.5to +0.8 DP 40.0 psf to 64.0 psf 600

+0.3to +1.0 DP 240 psf to 80.0 psf 100



Acurlite Structural Skylights NCTL-110-20884-1

Test Results - TAS 203 (continued)

Test
Cyclic Wind Pressure Loading

Negative Loads

Range of Test Actual # of Cycles
-0.3to-1.0 DP 240 psf to 80.0 psf 50
-0.5t0-0.8 DP 40.0 psf to 64.0 psf 1,050
-0.0to -0.6 DP 00.0 psf to 48.0 psf 50
-0.2t0-0.5 DP 16.0 psf to 40.0 psf 3,350

NOTE: Specimens showed no resultant failure distress or permanent deformation with a
recovery of at least 90% over maximum deflection after cycle test. No failure of
fasteners or separation of glass from the frame.

Test Method  Test
ASTM F588 Forced Entry Resistance

Type D Window Assembly/ Grade 10: = Pass
Specimen 1

Test

Disassembly No Entry

Sash Manipulation No Entry

NOTE: 1. T1 =5 minutes, L1 =667 N (150 Ibf), L2 =333 N (75 Ibf), L3 =111 N (25 Ibf)
2. Loads were held for 60 seconds.

Test Observers

Justin Bupp NCTL, Inc.
Robert DeFayette NCTL, Inc.
Kyle Mayleth Acurlite Structural Skylights

Where required, plastic film (2-mil) was used to seal against air leakage. The film did not affect the
performance of the specimens or influence the results of the tests. All tests were conducted in accordance
with the TAS 201, TAS 202 and TAS 203 test methods. Upon completion of all testing, the specimens
meet the requirements of Sections 1606, 1620 and 1626 of the “Florida Building Code, Building” and the
TAS 201, 202 and 203 protocols.

This test report was prepared by National Certified Testing Laboratory (NCTL), for the exclusive use of the
above named client and it does not constitute certification of this product. The results are for the particular
specimen tested and do not imply the quality of similar or identical products manufactured or installed from
specifications identical to the tested product. All testing was performed in compliance with the referenced test
method or specification and any deviations are noted. Ambient conditions during the referenced testing are
available upon request. Any film employed during testing had no effect upon test results.

The test specimen was supplied to NCTL by the above named client. No conclusions of any kind regarding
the adequacy or inadequacy of the glass in the test specimen are to be drawn from the ASTM E330-02(10)
test. Forced entry resistance test equipment used is in compliance with Section 7 of the ASTM F588-07
test method. NCTL is a testing lab and assumes that all information provided by the client is accurate and
does not guarantee or warranty any product tested or installed.



Acurlite Structural Skylights NCTL-110-20884-1

Detailed drawings were available for laboratory records and compared to the test specimen at the time of this
report. Component drawings were reviewed for product verification. The bill of materials contains details with
any deviations noted. Ambient conditions during the referenced testing are available upon request. A copy
of this report along with representative sections of the test specimen will be retained by NCTL. This report
does not constitute certification or approval of the product, which may only be granted by a certification
program validator or recognized approval entity. All tests were conducted in full compliance with the
referenced specifications and/or test methods. This report may not be reproduced, except in full, without the
written consent of NCTL.

National Certified Testing Laboratories

/ DIGITAL SIGNATURE

Justin L. Bupp Joseph A. Reed, PE
Laboratory Manager Engineering Services
JB/dro

Attachments

Appendix A — Revision Summary
Appendix B — Drawings



Appendix A

Revision Log

Identification Date Page & Revision
Original Issue 12/17/19 Not Applicable
Revision 01 03/31/21 Added PE stamped drawings and corrected missile type on page 1

Revision 02 01/05/22 Report reviewed and sealed by Florida PE



Appendix B
Drawings

Component Drawings, with Applicable Part Numbers, Manufacturing and Modeling Details, were reviewed
(as submitted) for Product Verification. Detailed assembly drawings showing wall thicknesses of all
members, corner construction and hardware application are on file and have been compared to the test
sample submitted.

(Reference: NCTL-110-20884-1)

See Attached Documentation;
any deviations noted.

Note: The above referenced component drawings (if applicable) along with representative sections of the test specimen will be
retained by NCTL per applicable retention requirements. This testing facility assumes that all information provided by the client is
accurate.



Noes: LARGE MISSILE

I The skytight system indicated on these shap drawings has been verified for comphiance in
accordance with the 2020 (7th Edion Florida Buildi a Code. Maximum design pressure +80psf
and ~B0psf

2. The skylight system may be instailed in High ¥Yelocity Hurnicane 2one

3. Thes p drawings are generic and do not provide information for site speshic projecs,

4. Struc ! adequacy of the supporting structure is not part of this product approval. Design of
e supporting structure 15 the respansibility of the engineer of record for the project.

5. Design of the supporting structure shall take into ace loads being transferred from the
skylight system (reactions} to the supporting stru
6. The dicated on these shop dra

tested for small missile impact in

dissimilar materiais shall be protected in accordance with seciion
Fiorida Building Cade

)

N3

LS

SEGMENTED BARRELL QUATER VAULT  SEGMENTED BARRELL HALF VAULT
WITH GABLE WITH CABLE

\ //
.J
[

I /\VW/V\J\

-~ i

e b

POLYCON POLYGON WITH JACK RAFTERS

STRAIGHT EAVE LEAN-TO
WITH GABLE

o G TP S T

el

acurlite

Structural

DADE COUNTY USE

5
S
#
&
[Tal YW
i) By
wy [SE]
L
w| =@
@lwi
=1 I3 30
CESED
v m [
=
sy
EN.<
ST

Tofi3




oD = M
A.I\.q _ i [}
o I -
~ | 8%,
PO K= €c-2 || 38 €G-3 |
= g N
i =B .- a8 5
1 &g I m
54 |5 g
L 8g !
- i ok
u i b 8 i
> 4 8 :
| o 588 -3 |
i i i j
| LD g
i ] + (-
=7 n il BEEs lh.u.w i
Lo AR e -4 174" N | T o) +
DAYLIGHT GPENNG I DAYLIGHT OPENING DAYUIGHT OPENING
b 46 3747 U S 4'-6 374" o - =B 3747 —
€L TO CL COF RAFTER CL TO CL OF RAFIER CL 7O CL OF RAFTER
PLAN VIEW

SLME ¢ 58 = gt

(1) UNIT REQUIRED AS SHOWN

\\.\\

090 DUPONT SENTRYGLAS PLUS INTERLAYER L

(NOA § OV-1110.08) T

1/4" HEAT STRENCTHENED GLASS —-'

\\
o= S
o
\“\\\ CG-4 mu
CABLE VIEW i
SCAE : 3/8° = V0" SiZE
CG—1 54 x 99
. CG—-2 54 x 88
M TMRIRED s Y CC-3 |54 % 49 78
g ~ CG—4 { SEE PATIERN
Y . -
N B
-. \\L\\n\
.,.5 M \\\\\\ Cow&
_3‘ woof ..\\\\\ (5
SSSSSNS—— DS — 4

fei Bt 1A%

CROSS SECTION £5-1
SEAL 08 m el

TNE | 3w reD

CROSS SECTION C5-3
SCME - A - AvE

ROVESED PIR CMCS

acurlite

DADE COUNTY USE

S
N v
o i
S B
W
Z
Q
T
<
o
re] el
[+ BEV5 [
Lt (¥
nl=s1 2
w2
iokoHZ
1m|nﬁ m
L2l m O
i
e
il
-F..
saxr

20f13




! - e el ey oo g e e BTGt SR A s |
I i
i | i C
. | D
\\ P Lo, R e
‘\} ! E | 2 DAVLIGHT OPENING
P .
S
\)\}\- i E o
‘k\ 6‘,__;5__
k £EEL 2
v oX 13-—;%-}‘ L
> | 7%
N [ A | )
- P2 | N
[ 1
i | Ny { FATRY
{ i 3
Pl 7 e
Lol
T (R [
i { : f 2 = % B e K |
t O { 2R }
P | G) i
& I ; |
e S S 710 1,47 R RS TS
c m || ] b T ot I |
g & 01 1 Fan
s =
2 * o
0 = - "
BE 2 azfaia
= iR Eferel I,
= cfm e Ss e
% o
N EE b
SimE 53
o
wy » @ m' i
2 o9 0| o)
c © || Lo
= & Pt
P P
b i
| P f — e |
[ | | i ;
bl lposasps OB 5| | E— I.o78 e
bt DATUGHT CPENING : DAYLIGHT OPENING :
| -

@

Sy

NNI) THOTAYG

wilivy 30 Y2 0L 10
G Gy

| 0 0
SR 5 &
tl g w w
11
e 4
{
| i = ;
g e -9 27/32" g

CUT 0 OUT OF FLASHNG

| " S 90 2732 B
OuT 0 QUT OF FRAME
; : &1 116"

DAYLIGHT OPENN

351 ALNNOD 304Qp—

L

N EN

ll‘
PR S S 30 21052 e A S S
I CUT T OUT OF FRAME 5
} 710 147 {

DAYUGHT OPENING

LHepm ¥ TS

| fmb m M TV

% k:z 3
SECURE SERIES

LARGE MISSILE
PLANS AND ELEVATIONS

o

€1jo¢g

A 12RfE RS POV CALCS




CONT. SLICONE GASKET R ¥

CONT, STRUCTURAL SEAL
USE GOW CORNING 995

CONT. SILICONE GASKET 12 - 1/4 x 1/2 SETONG BLOCK
g 2} PER BAY & LONG LOCATER @ 1/4 PONTS ™77
nwzwm. wm.u_ m%z_ﬁ%mmw e ,,.,,, S mNNmN o - i e - 3/16 ALUMINUM GLASS REST
3/4 % 1 3/16° SETING ELOCK A e s “\\\\ \\w\\,\\\»\ # " 4 FER BAY 4 LONG LOGATED © 1/4 POWNTS "
] Y et a 5 g - .
P TS s P ity \\ CONT, SEALANT
{2) PR ERY ;“ﬁﬂ. Frsis X / oy g e USE DOW CORNING 705 SILICONE
3/16 ALUMINUM GLASS REST VoS o -
{2) PER BAY 4 LONG LOBATED ooy | = -
AT 1/4 POINTS ™, - A 3
CONT. BACKER RDD AND STALANT _ LW s

1/4=30 x 3/4 FLAT 4D SCREW TYPE F"
LOCATED © &° OC.

$38970 EXTRUCED ALuMvum |
STRUCTURAL SEAL FLANCE

ATTACHED 0 PURLIN USING ——nti-

1/4-20 x 3/4 FLAT HO SCREW TYPE F*

LOCATED © §° O.C. CONT. SUCONE GASKEY —-

A (P10 37 A0] ROERD PR AL

;

@14 x 1 142 HOWH TEK SCREW

DABE COUNTY USE

ATTACH PURLIN TD RAFTER ~oomeemc
{2) PER END {4) FER FURLIN

#4 % ) 1/2 HWK TEK SCREW
ATTACH PURLIM TO RAFTER

{2} PER END (4} PER PURLIN
HOBBS? EXTRUDED ALUMINUM PURLIN —mrfe -

1/2-13 HEX HD. CAP SCREW

g

HOBBS? EXTAUDED ALUMINUM PURLIN e

SUNNSNIN L 7 S

% N PR
©.6] -

/72 HORIZONTAL _

ATTACH ALUMINUM ANGLE 10 RAFTER ] DETAIL
4 1/2" LONG AT INTERIOR RAFTERS

11/2% AT EACH CORNER
DB FORMED ALUMNUM CLOSURE FLASHING -l

2/8 % 4k 4w 4 3/8 LING
STRUCTURAL ALUMINUM ANGLE ¢

DADE COUNTY LISE

Stroctural Skylights, Inc.

.sem_ acurlite

{2} PER INTERIDR RAFTER ~
(1) AT EACH CORNER
1/2-13 = 2 GRADE 5 HEX HD. TAP BOLY
WTH FLAT AND LOCKWASHER _
DRILL AND TAP INTG STEEL
ATTACH ALUMINUM ANGLE TO STEEL
SEAL IN AND ARQUND LUG AND FASTENER
YSE DOW CORNING 795 TILCONE

063 FORMED ALUMINUM SILL PLATE

G 5 1/2 575 PAN HD. S48,
LOCATED © 127 0.6
ATTACH CLOSURE FLASMING TO SILL PLATE

3/16 x 1/2 FOMM TAPE

ALOW 574" INTERRUPT © WEEP ™
e

STEEL TUBE
(ROY PART OF PRODUCT APPROVALY™

STAMP

SEE DETANL 1B B4 SHEET 10 FOR i
CONCRETE COMNECTION DETAR

SILL
DETAIL

Jltad | N
2/l fao2s ¢

T R

s
i

CURE SERIES
DETAILS

LARGE MISSILE

ifse




125 FORMED STEEL PRESSURE CAP
ATTACH TO ALUMINUM PRESSURE CAP
W 1/4-20 X 5/8 HWH. TYPE °F

ISOLATION MEMBRANE )/

1/4-20 ¥ 2 HWH. SCREW TYPE “F

10CATED © 67 O.C.

j ATTACH PRESSURE CAP TO RAFTER

4 m’_mmb HD N Q0W CORNING 785 SILCONE
003 FORMED ALUMINUM COVER CAP

125 FORMED ALUMINUM PRESSURE CAP
~CONT. 5736 X 1/2 FOAM TAFE

/

CONT. SILICONE SEALANT
>{_USE DOW CORKIG 795

.A\,/.//

e

S
ar..lu.rfl e
sl R 7 CONT. SILICONE GASKET
~ HU8858 EXTRUDED ALUMINUM RAFTER
N TODIBS EXTRUDED ALUMINUM
H NTERNAL LUG
i

o AR,

TN 3/8-16 x 1 TRUSS HEAD
T THREAD ROLLING SCREW
ATTACH RAFTER TO INTERNAL LUG

e 37816 X 3 1/2 HEX HD. CAP SCREW
th // GRADE 2 MINIMUM

e B i 1 /2 e 1 120y

remmr @ 1 f 27 i,

b e L= WITH FINISH NUT, LOCKWASHER
7 L AND FLAT WASHERS BOTH SIDES
@ ).n._“_’nt iNTERMAL LUG TO RAFTER

. 1/4" THICK ALUNINUM
T~ REINFORCEMENT PLATE
1 TAB WDE X 5 5/8" HIGH

. GOBI—T6 MINIMUIM

DETAIL LR ——

'~ 370 XX ELECTRODES
ALL ARCAING BOTTOM OF PLATE

- 17420 X 1 u\& H.¥H. SCREW TVPE F"
- LOCATED & 6" 0.C.
/" ATTACH PRESSURE CAP 10 RAFTER
u EMBED HD IN DOW CORNING 785 SIJCONE
"o S08545 EXTRUDED ALUMINUM COVER CAP

- 535591 EXTRUDED ALUMINUM PRESSURE CAP
. CONY. SRICONE SCALANT
; USE DOW CORNING 785

w oo 063 FORMED ALUMINUM CLOSURE FLASHING
m -
T

- CONT, SHICONE GASMET

\ E._z.iz...ﬂxmﬁms
- 1OCATED © 12 0.5,
7 T ATTACH ANGLE SPACER T0 PURLIN

3/8-16 x 1 TRUSS HEAD
THREAD ROLLING SCREW
ATTACH RAFVER TO INTERNAL LUG

AN

™

DB T ATIAS PVl FOr ONES

DADE COUNTY USE

%

RN

=

M

|

acurlite

i
i s
L s
\ 2 §
i .
i j DADE COUNTY USE
B0,
Y \.n ’
3
1% ...\
S B Y
t / \
\ /i
\ /
i /
\ \ |/
e \ _. \\
Y ! 7 Vo
Y | 7 iy
\ kl \ [+ LV
\ \ Gl
A v/ CIElw
A \/ 3/B18 X 3 1/2 HEX HD. CAR SCREW &lw|=
/ ¥4 CRADE 2 MINWUM =3 163 | s
\ e WTH FINISH NUT, LOCKWASHER YEERE
\ AND FLAT WASHERS BITH SIDES SHE<g B A
/ ATTACH INTERMAL LUG TO RAFTER A
\_eace of TesT onageR e
{NOT FOR FRODUCT APPROVAL)
s
/N JAMB RAFTER i
= A -
L




063 FORMED ALUMINUM CLOSURE FLASHING -

CONT, SEALANT
USE COW CORNING 785 SLICONE Ty

CONY. STRUCTURAL SEAL

USE DOW CORNNG mum\\x\\
\\

/\..\\

-

1/4~20 x 3/4 FLAT HO SCREW TYPE F
LOCATED € 6" O,

#14 x 3 1/3 HWH. TEK SCREW .
ATTACH PURLIN TO RAFTER wrvameiionime s ™
{2} PER END (4} PER PUAUN

HEEBS? EXTRUDED ALUMINUM PURLIN —-omos oo

1/8 RUMNUM GUSSEY BLATE
{2) PER RAFTER

3/8-16 % 1 TRUSS HEAD .
THREAD ROLUNG SCAEW -
ATTACH RAFTER TO GUSSET FLATE

S DETAIL NOT PART OF
ALL MISSILE PROGUCT AFPRQVAL

/TN RIDGEKNEE

NESTDETAIL

L 3/ FWLET WELD

| 370 XX RLECTRODES
FULL HEIGHT OF RNG
B MNIMUM

L0 COMP. RING

3/818 x 1 TRYSS HEAD
= THREAD ROLUNG SCREW
ATTACH RAFTER 10 MTERNAL

&7 UDETAIL

1/4% THER AUMNUM
.. RENFORCEMENT PLATE
FTNET WBE K 5 /8T witH
E081-TE MINIMUM

3/8~16 X | 1/2 HEX HD. CAP SCREW
W FINSH NOT, LOCKWASHER

ST AND AT WASHERS BOTH SDES

ATTACH INTERNAL LNG 1O RAFTER

_ TOO9BS ENTRUDED ALUMINUM
- INTERNAL LG

AVPITR/IAR AEAED PR CuS

;

o acurlite

DADE COUNTY USE

ENGIREEQSTAM?

)

SECURE SERIES

K

LARGE MISSILE

DETAILS

E




Lq

1/4~20 X 2 1/2 HWH. SCREW TYPE "F*
LOCATED @ 5° O.C.
ATTACH PRESZURE CAP TO RAFTER :/
EWMBED HD N OOW CORNING 785 SIICONE
508545 EXTRUDED ALUMINUM COVER CAP Y 5

535591 EXTRUDED ALUMMNUM PRESSURE CAF,
CONT. SILICONE SEALANT H

USE BOW CORNING 785 7\ m..lu =
=

1/4~20 X 2 1/2 WWM, SCREW TYFE “F"
LOCATED @ 6” 0.C.
/ ATIACH FRESSURE CAP TQ RAFTER
[ EWBED WD W DOW CORNNG 795 SIUCONE
/ ;- SQ854S EXTRUDED ALUMMNUM COVIR CAP

- 35591 EXTRUDED ALUMINUK FRESSURE CAP

_ CONT. SILICONE [SEALANT
G A/~ USE 00w CORNING 795

147 x 3% x 3° K 47 LONG
STRUCTURAL ALUMAIM ANGLE ™,

e
CONY. SILICONE GASHEY -~

P4 % 1 1/2 HWH. TEX SCREW \«
ATTACH PURLIN TO RAFTER -/

" 1
{2) PER END (4) PER PURLN = &b
HOBA37 EXTRUDED w
ALUMNUM PURUN 1/ M
- A

12 x 1 HWH, TEK SCRTW

LOCATED @ 12" O.C.

ATTACH SLOPE PURLIN TO SLOPE RAFTER
ALSO ATTACH VERTICAL GABLE POST

063 FORMED ALUMINUM ANGLE SPACER

-LONY. SIIGONE GASKET

$12 x 1 MW, TEK SCREW
—- LOCATED @ 12" O.C
ATTACH ANGLE SPACER TO PURUMN

-~ 103 FORMED ALUMNUM CLOSURE FLASHING

12 x t HWH. TEK SCREW
it~ LOGCATED & 127 0.C.

/

ATIACH ANGLE SPACER TO PURLIN

e OB FORMED ALUMINUM ANGLE SPACER

\\cmb&m»m EXTRUDED ALUMINUM COVER CAR

1/4-20 X 2 u\..m HW.H, SCREW TYPE °F"

AT APEX USING (4} FASTENERS

/T GABLE HEAD
xS %2 A\M.. LONG

STRUCTURAL ALUMINUM ANGLE I/.rh\\ DETAIL

(1) PER £ACH SIDE OF GABLE POST
(2} PER CONNECTION

1/4 DIA. THRU BOLT.

ATTACH GABLE FOST YO ALUMINUM ANGLE

1/4 QIA. BOLY.
WATH FLAT AND' LOCKWASRER
GRADE 2 MINKUM __
EATED AT 1/2° MAX. FROM HEEL OF ANGLE ™|
DRILL AND TAP INTG STEEL
ATTACH ALUMINUM ANGLE 10 STEEL

LOCATED @ 6" 0.C.
ATTACH PRESSURE CAP TO RAFTER
EMBED HD N OOW CORNING 795 SILCONE

|
\\...35 GABE POST AT CENTER
{3) AT EACH END AND (&) AT CENTER

12 X 1 HWH. TEK SCREW

ATTACH PURUN 7O SLOPE RAFTERS AT mgm”.‘/(w\\iil. ity
7

. CONY, SLICONE SEALANT
/ USE DOW CORNING 795

- CONT. SILICONE GASKET
__10CATED 8 &" 0.C.
" ATTACH PRESSURE CAP TO RAFTER

#12 x 1 HWH, TEK SCREW
- LOCATED @ 12° 0.C.
ATTACH ANGLE SPACER TO PURLIN

em DB FORMED ALUMINUN ANGLE SPACER

e TEK SCREW EMBEDED IN SEALANT
T USED FOR INSTALLATION PURPOSES

HNOQT PART OF PRODUCT APPROVAL

N7/ DETAIL

e Q63 FORMED ALUMINUM CLOSURE FLASHING

~.~ £10 x 1/2 S/S PAN HD, SM.S
[y~ LOCATED @ 12" 0.C.

|

T~ STEEL TUBE
7 (KOT PART OF PRODUCT APPROVAL)

__3/16 x 1/2 FOMI TAPE
ALOW 378 INTERRUPT @ WeEF

~+ 508545 EXTRUDED ALUMINUM COVER CAP
\.m@muw_ EXTRUCED ALUMINUM PRESSURE CAP
1/4-20 X 2 1/2 HWH. SCREW TYPE F"

EMBED HD IN DOW CORNING 795 SILICONE s e

053 FORMED FcSzcc.wF PLATE \\n\\_.m_ﬁ.% E \.W
A frat Lo A

ATTACH CLOSURE FLASHING TO SILL PLATE —

1/4 DiA BOLT.
WTH FLAT AND LOCKWASHER

GRADE 2 MINIMUM
LOCATED AT 1/2" MAX. FROW HEEL OF ANGLE -~
(2) PER ANGLE AT 212° L TO OL
b Y DRILL AND TAP iNTO ETEEL
i m ATTACH ALUMINUM ANGLE TO STEEL
JHLHD
i
PN =
o L 14 x 1 172 HWH. TEK SeREW ~
“~ ATTACH PURLIN TO RAFTER b
{2} PER END (#) PER PURLIN §
_ HOBB57 EXTRUDED
/7 ALUNINUM PURUN
/
e e ==
ERINTERSECTION
L BETAIL
- HOTOTT EXTRUDED ALUMINUM TUBE
sl f
#12 x § HWH. TEX SCREW
LOCATED © 12" O.C.
ATTACH PURLIN TO TUBE
M T
- S31713 EXTRUDED ALUMINUM PURLIN
5y RAFTER
DETAIL

m.b.[l ’M T G oW o Ta

N\ -S38551 EXTRUDED ALUMINUM PRESSURE CaP
/ - S08545 EXTRUDED ALUMINUM COVER CAP

\, 1/4-20 X 2 1/2 HWH. SLREW TYPE "F
100 GABLE POST LOCATED © 67 0.C.
ATTACH PRESSURE CAP TO RAFTER
EMEED HD IN DOW CORNING 785 SIICONE

N7/ DETAIL

s lerizarny  REVSED PER Cals

{

acurlite

9/8/17

DADE COUNTY USE

TR

SECURE SERIES

LARGE MISSILE

DETAILS




§14 x 1 1/2 HWH, TEX SCREW
{2) PER END (4) PER PURLIN

ATTACH PURLIN TO RAFTER e

HOBB57 EXTRUDED ALUMINUM PUALIN -

s GONY, SRICONE GASKET

4 1/4 w1 316" SETHNG BLOCK
g {2) PER BAY 4 LONG LOCATED
/ AT 1/4 POINTS

1/4=20 X 2 1/2 HWH. SCREW TYPE "¢
,— LOCATED & 6° 0.C.
7 AFTACH PRESSURE CAP 10 PURLIN
EMBED HD IN DOW CORNING 795 SILICONE

. 3/16 ALUMINGM GLASS REST
e (2} PER BAY 4 LONG LOCATED

/7 RS REQUIRED
AT 1/% PONTS

SHIM. FASTNE AND SEAL

7

LOCATED @ 12° 0.0, ——H-
ATTACH FURLIN TO TUBE

S31T1S EXTRUBED ALUMINUM PURLIN -

CONT. SILICONE GASKET «mmoemimm

L Th

e s
NE/DETAIL
THIS DETAIL IS NOT PART OF PRODUCT APPROVAL

CONT. SIICONE SEALANT .- |{ B!
USE DOW CORNAG 705 ﬁ

3859t EXTRUDED ALUMNUM PRESSURE Cap '/
SOB545 EXTRUDED ALUMMNUM COVER CAP -
1/4-20 ¥ 2 1/2 HWH. SCREW TYPE 7~/
LOCATED © 6° 0.C. ./
ATIACH PREGSURE CAP 70 RAFTER
EMBED HD N DOW CORNING 705 SILICONE

E
b

WL GABLE POST

\NE/ DETAIL L e
E_momﬁ»;_mzo‘ju%aom%oocﬂpmo<>r.

BOVIED PER CALCY

A [pafszian

vl ol
i
e |
DADE COUNTY USE g9
wl =l w
o wi ] =
iSEOp<
. R“U
GiSEn
u, LY
_a
LT
8of13




WOOD BLOCKING
{NOT PART GF PROGUCT APPROVAL) %

063 FORMED ALUMINUM CLOSURE FLATHING

£12 11 HWH TR m%ms-

LOCATED @ 12" 0.0, ——gm
ATTACH ANGLE SPAGER T4 PURLIN
125 FORMED ALUMINUM ANGLE SPACER v g

1/4-20 X 2 1/2 H.WH. SCREW TYFE "F"

LOCATED ©
ATTACH PRESSURE CAP TO
EMEED HD IN DOW CORMING 195

125 FORMED ALUMINGM P

CONT. 5/16 X 1/2 FOMM TAPE -

TONT. SILICONT SEALANT
USE DOW

; 146 x 1 172 HWH, SOREW
i o ATTACH PURUN TO RAFTER
N § . _ J/ {2} PER EMD (4) PER PURLN
CONT, GUCONE GASKET -4~ m / - MOIBST EXTRUDED ALUMNUM PURLIN
CONT, STRUCTURAL SEAL | / / 3/8 X 4 £/2 HEX HD. CAP SCRTW
USE DOW CORNING 595 5 m \‘\ £ WTH FINSH NUT, LOCKWASHER
i 1/% x 1/2 SETING BLOCK / / 2 i LA RS CROTH SHES
2) PER BAY 4 LONG LOCATED @ 1/4 PONTS / B 5y = iyt " "
37e Al Slass wes: | / / o /| ATTAGH STRUCTURAL ALLMINUM ANGLE 10 RAFTER
S:m»m»«:ozn_.u?aoo,}ngza/ o man 7 e x3 e I 7 3/4 LONE
- o ! / - STRUCTURAL ALUMINUM ANGLE
COMT. BACKER ROO AND SEALANT | / / Bes1-te
USE DOW CORNING 755 SILICONE
4"
SXB970 EXTRUDED ALUMINUM e

STRUCTURAL SEAL FLANGE
ATTACHED TO PURLIN USING -
1/8-20 » 3/4 FLAT HD SCREW TYEE 7

LOCATED @ &

T

N e
el

M
B

ATTACH ALUMINUM ANGLE TQ TEST EUCK

g '\ dybrlsadimad LONG
SHCONE STHUCTURAL ALUMINUM BNGLE
{ 1/2-13 X 4 1/% HEX KD, CAP SCAEW
ils . WTH AINSH NUT, LOCKWASHER
RESSURE CAR AND FLAT WASHERS §0TH SIDES

ATTACH STRUD

CORNING 783

FO0IBS EXTRUDED ALUMINUM .,m., - HOBSSA EXTRUDED ALUNMUM RASTER

INTERNAL LUG i 1/4-20 x 1 FLAT HO SCREW TYPE “F*
ATTACH RAFTER TO INTERNAL LUG
3/8~16 X 3 1/2 HEX HD. CAP SCREW
HIP L WTH ENISH NUT, LOCKWASHER

E __uh. ot s AND FLAT WASHERS BOTH SIQES
N2 DETAIL ATTACH INTERNAL LUG TO RAFTER

ATTACH ALUMINUM ANCLE TO TEST BUCK

QL.

SILL

DETAIL /

i
WOOD BLOCXING
{NOT PART OF PRODUCT APPROVAL)

LE3 FORMED ALUMNUM LLOSURE FLASHING

S LFZ x4 HEX HD LAG SCREW WITH FLAT WASHER

TURAL ALUMINUM ANGLE TO RAFTER

WOOD BLOCKING

{NIT PART OF PROCUCT APPROVALY ™Yy

538970 EXTRUDED ALUMINUY
STRUCTURAL SEAL FLANGE

ATTACHED TO PURLIN USHG

1/4=2C = 3/4 FUAT HD SCREW TYPE "
LOCATED @ 6° O

CONT. BACMER ROD AND SEALANT _
USE DOW CORNING 795 SILICONE

CONT, STRUCTURAL SEAL
USE DOW CORNING 755

CONT, SILICONE CASKET -7

S38370 EXTRUCED ALUMINUM
STRUCTURAL SEAL FLANGE

ATTACHED 7O PURLIN USING -

1/4-20 x 3/4 FLAY HD SCREW TYPE 'F*
LOCATED & £° 06,

1/4 x 1/2 SETING BLECK |
{2) FER BAY 4 LONG LOCATED @ 1/4 POINTS

3/16 ALUMNUM CLASS REST 7
(2} PER BAY 4 LONG LOCATED @ 1/4 PONTS
CONT. BACKER ROD AND SEALANT
USE DOW CORNING 785 SILICONE

CONT, STRUCTURAL SEAL -

N

USE DCW CORNING 6§55
CONT. EFOM GASKET ~—

348 x 4 HEX HD LAG SCREW WITH FLAT WASHIR

— 2732

| - HOBBST EXTRUDED ALUMINGM PURLIN

T % x Y 1/2 HWH. TEK SCREW
. ATTACH PURLIN TO RAFTER
(2} FER END (4 FER FURLIN

e e WOGE
\&/  DETAIL

fe fmennb 20/32°

YV

N fid x 3 172 HWH. TEK SCREW
- ATTAH PURLIN TO RAFTER
(2) PER END (8) FER PURLM

SO HORIZONTAL

N2/ DETA

o 3/B x 4 HEX
ATTACH ALUMINUM ANGLE TO TEST BUCK

| 1A x 4 x 3 x T 347 LONG
% STRUCTURAL ALUMINUM ANGLE

V| 1/2-13 % 4 1/2 HEK HD. CAP SCREW

O 918" X 1 1/2" SLOTTED HOLE

WTH FINISH NUT, LOCKWASHER

AND FLAT WASHERS BOTH SIDES

ATTACH STRUCTURAL ALUMNUM ANGLE 70 RAFTER

-~ H0A85T EXTRUCED ALUMINLUI

HD LAG SCREW WATH FLAT WASHER

R FTear o W bR caics

e acurlite

Structural Skylights, Toc,

W PUBLS

CADE COUNTY USE

SECURE SERIES

T

LARGE MISSILE
DETAILS

-

9of13




N /\M
/
1053 FORMED ALUMNUM CLOSURE FLASHING ——hi-—tt
LOBF FORMED ALUMNUM ANGLE SPACER - fboda
12 x 1t HWH. ToEM SCREW

LOCATED © 12" 0.C. ——
ATTACH ANGLE SPAGER TO PURLM

\ B
i

1/4=20 X 2 1/2 HWH SCREW TYPE E"
L LOCATED @ 8" C.C
I ATTACH PRESSURE CAP TO RAFTER
§ EMBED WD N DOW CORNING 795 SIICONE

1

«
|
!
i

£ S030A0 EXTRUDED ALUNINUM COVER CaP

f N _t. 525591 EXTRUDED ALUMNUM PRESSURE Cag

/ CONT. SUCONE SEALANT
{7 USE pow CORNNG 785

"\ o~ HDBEST EXTRUDED ALUMINUM BURLIN

CONT. SRICONT GASKET
CONT, STRUCTURAL SEAL

USE DOW CORNING 885

1/4 % 1 3/18" SETTING BLOCK
{2) FER BAY 4 {ONG LOCATED -

AT 14 POINTS

348 ALUMINUM GLASS REST

{2) PER BAY 4 LONG LOCATED ~—oo

AT 174 PONTS
{OHY. BACKER ROD AND SEALANT
USE [OW CORNING 795 SIICONE

38970 EXTAUCED ALUMINUM
STRUCTURAL SEAL FLANCE

ATTACHID TO PLRUN USKNG — -
1/4-20 ¢ 1/4 FLAT HD SCREW TYPE F™
LOCATED 0 6 0.,

§14 x 1 1/2 HWH. TIX SCREW
ATTACH PURUN TO RAFTER ——
(2} PER END (4) PER PURLIN

HOBSS7 EXTRUDED ALUMINUM PURLIN -~
1/2-13 HEX HD. CAP SCREW

WTH FINSH NUT, LOCKWASHER
AND FLAT WASHERS BOTH SIDES

ATTADH ALUMINUM ANGLE TO RAFTER ™
& /2% LONG AT INTERIOR RAFTERS

bonit LN
G W

i nﬂp?ﬁ..

ATER AL

i A\ ) 1 1/2° AT EACH CORNER
) o1 / (063 FORUED ALUMNUM CLOSURE FLASHING -]
I . #14 % 1 1/2 HWH. TEX SCREW
/ y "o ATTACH PURLMN TO RAFTER el e L
ik {2) PER END {4) PER PURLN ASTM AZ6 MINMUM
| M BOTH SIEES
\ HLab s 1727 DIAMETER ITW FED HEAD ADHESIVE ANCHOR WITH
/ w1 A7 ACRYUC ADHESIVE 4 142" MINDUM EMBEDMENT
i e, CENTERED M WAL WATH ASTM F5O3 ASl 304 b
/ STANLESS STEEL THREADED ROD WITH FLAT AND LOCKWASHERR
o 11/27 FROM HEZL OF ANGLE (2) PER ANGLE 6" CL TO CL.
/ SEAL N AND ARDUND LUG AND FASTENER |
i o USE DOW CORNING 785 SLICONE
{NGT FART OF FRODUCT ASPROVAL) 063 FORMED ALUMNUM SLL PLATE -
#10 % 1/2 /5 PAN D, SMS.
LOCATED @ 12° 0.C. —
TN JAMB ATTACH CLOSURE FLASHING T0 SKL FLATE
N 6 316 % 1/2 FOAM TARE

ALLOW J/4" INTERRUPT © wegp

CORCRETL CURR =

{NOT PART OF PRODUCT APFROVALY

AL

I B e

1 1/16° G-

PRV

L 2 3767 Do

SILL

,Um.l-p”b “ n_l .

AT PEATAT] VD TOU GALES

;

Stractura Skylights, Inc.

we_ acurlite

DADE COUNTY USE

SECURE SERIES

LARGE MISSILE

DETAILS

1Go0f 13




THE WATER THEN RUNS
OOWN THE CONDENSATION
TRAZK ONTO THE SILL FLATE.
FROM HERE 17 Wil WORK
115 WAY FORWARD T0 THE
EOGE OF THE SiLL PLATE
AHD DRAIN AT THE 3/4° vDID
iN THE SPONGE GASKET.
VO PALED WITH 30 PPT WEEP BAFFLE.

WEEPAGE AT INTERMEDIATE

THE WATER THEN RYUNS 7
DOWN THE CONDENSATION -
TRACK I0 THE SiLL PLATE

HAPPEN TO PENETRATE THE
SLICONE JOINT IT WOULD

DADE COUNTY USE

TRACK ©F TRE RAFTER,

& borhaaran! " anes am cans

i

Structural Skylights, Inc.

acurlite

= _B/BAT

T

LARGE MISSILE

T

DETAILS

SECURE SERIES

[T e

E

;8
&

E:

é‘,ﬂ




- 0125 \.

== 1,250 i
b 2.500
Area: 40777
Perimater: wfm__nwwﬂ i
Bounding bex: - G e 12
T ¥ m41828 -~ IB4TZ
Motmends of inertig: X 313883
Y. 3.5664
.m.qaucn-. of inertia: m_: nmwwmwo
4 of gyration:
oo elaysten L Sos

Frincipal momeata E._u ¥~ diraclions about centreid
: 3.5664 piong [0.0000 1.0000]
,_ 31,3883 olong [~1.6000 0.0000)
Waight per fneal fond 4,77 tba,
Mumingm Aoy 003~T6

[ HOBB58 RAFTER

Araa: .
Patimetor W@mmwsuba Tk
Bounging b : =12 ol &
Gl ¥ 04282 -~ 1238
Moments of inertie. X 0.0048
¥ €783
Froduct of lnertia: Mﬂ om._.uocoowu.
Radii of gyation: .
gdii of gyration: ¥ e
Frincipal momentn and XY directions Shout centroig:
i D:O04S elong [1.0000 §.0000}

& 0.1783 along mccQuo 3.00G0]
Waighi per ines! foot:0.25 ibs.
Aluminum MNloy £06276

LLTN\S08545 COVER GaP

Area 1.6983

Porimster 312802

Soanding box: P
Yo 20520 ~- 19480

Homents of inertia: X J 4266
¥. 14401

Product of inertia; XY d..m.ﬂmn

Radit of Lo: - 14208

o et ¥ 0.9257

Principal moments ond X~ direclicns oboul centroid:
b 144689 clong [0.0082 ~1.0000)
& 34267 clong {1.0000 0.00BZ}
per Lneal fect:1.89 tha,
um Allsy G0E3-TE

/T HO8857 PURLIN

v

e 31 e

Ares:
Perirmeter: 14626
oung bax: 1,
Smmdag 02140

Moerents of inertla

Proguet of inertia:
Rodh of gyration:

Principal moments and X-Y directions_obout centroig:
# 0.6012 olong {1.0000 0.0000]
& 01488 oleng [0.0000 1.6000)

Weight per liect foot:0.354 ibe

Alumisum Aloy 05316

N

LI ,
|t npﬁ - .n s |
g Ll mo e
o
Arga: 4.7307
Perimetor 15,0209
Bounding box % =1.2408 ~- 1.2897
¥i —04032 ~~ $368
Moments of inertiy; % 0.0800
Y: 98177
Fradust of xr. -00027
Rudi of gy X 03309
Y. 07561
Principel momants and X~ dires bout controid,

i: 0.0800 along {1.0300 ~0.0080]
0,476 along [0.00E0 1.2000]

Visight gor lineol fa01:0.88 i
Alyeninum Al oy 6083~

L\ S31713 PURLIN.

re

Area:
Perimeter:
Bounding box: w= 10620
- D8IET
Boments of lnertie: Xt 10731

Product of inerties XY -C.000Y

Redii of gyration: X 07427

Y D848

Principed moments oz %-1 directions about centro
§ L0 ateng {1.0000 -0.00
& 13224 eitag 160004 1.6000)

Waight per dinec? foot: 2,335 ibg.

Aumingm Aoy EOOI~TE

7 N\TO0985 mzl_'mxzpw. LUG

|

|
o

P 0125

1,250 ~orae 1,

-

raa:
Perimater:
Brunding tox: 1. e LEEDD

Marmenis of nerths

Praduct of inertio;
Redi of gyratien:

Frincipal moments ang X-¥ girectizns obout centro'd
I 11395 cloag qux —0.7071]
& 1165 clong [0.7071 ©.7071]

Weaighl per dnesi $001:1.39 ibs.

Auminuve Aoy E063-16

7\ HO1071 TUBE

S

R POR CALLS

Avjethaarag

DADE COUNTY USE

v
—
b
i) g e
zlall
bl V)
Vil = =
Eluls
wmmmmm
] wd
2filz
L)
ki
TS
T

ﬁ.o:w




1
low
2
1 o
I_. -
 ——
!
;
i
:
5
2
Deacriplien: Structural Alumingm Angly =
. .
m {Aloy COBI-TE) 2
&
S @
[ !
:
i
m "
|
!
i

Geosription: Structural Aluminum Angle
Sie3/8 x 5 x 3
Mat Afuminum {Alioy $061~TE)

Oesceiption: Pop Hivel
o Size:1/8 x 1 /4
Materioh: Aluminum

Description: Fon Head Shesot Melel Screw {Pon Hd. Eus)
Size: 10 % 1/2
Steinless Stect

lon: Hes Wosher Head Tek Serew (HWH. Tew Screw
1

x
:SAE Groge 2 Steoi

Daseeiption: Truss Head Threcd R
Size %

g Sorew

AL Grade 2 Steel

Description: Hax Wosher Head Tew Serew [HWH. Tek Screwh

De=cription
Size:1/4~20 x 2 172

Washer Hoad Scraw Type F™ (HWH. Screw Type

Grode 2

Matert

Sles!

g
£l

e
i

1932

/

Rest

{Alioy €61-TE)

Beserption: Guzeet Flate

Daszription: Formed Cover Cop

Size:.040 Thigk

Gescription: Formed Fressure Cop
Sies 125 Thick
Haterial Aumimum {alisy $003)

Description: Hew Hess Top Bait with Flat Wosher ord Lockwosher
Size:1/2~13 x 2
Molerig: ASTM A443 Grods 5

onaﬂﬁ,:o_.: Hex Hesd Tap Boit with Finish Hub, Fia0 Woshers and Lockwa
Slre:1/2-93 x 1 1/2
Moterig: ASTM Crode 2 Steel

R,

G/

i
b 216° —-
Manufacturar Treflaborg
Desger! t Gosket

Matesiel: Sdicone

Description: Hex Head Cop Scraw with Fatlsh .z,.?.?.z Woshers and Leckwasher

Size:5/B11 % 4 172
Materich: ASTM AJD7 Stest

Manufacturer: Zlaloe
Cescription: Setting Brock
Maleriah STicone

FEVSID P ChlCY

S R

DaDE COUNTY USE

T R

SECURE SERIES

T

LARGE MISSILE

TR

BILL OF MATERIALS

E

130f13




	Acurlite Structural Skylights
	PRODUCT TYPE:  Fixed Skylight Assembly
	SERIES/ MODEL:  “Secure Series”
	For National Certified Testing Laboratories
	NCTL-110-20884-1
	REPORT TO:
	ACURLITE STRUCTURAL SKYLIGHTS
	1017 NORTH VINE STREET
	BERWICK, PA 18603
	REPORT NUMBER:  NCTL-110-20884-1
	PRODUCT TYPE:  Fixed Skylight Assembly
	SERIES/ MODEL:  “Secure Series”
	Date Testing Started 10/14/19
	Date Testing Completed 11/19/19
	Description of Specimen Tested
	Note: All dimensions are in the order (Width x Height x Thickness) unless otherwise noted.
	Model/ Series “Secure Series”
	Overall 33.02 mm (1.300") nominal
	Glass Thickness (1) Lite of 6 mm (0.220") nominal tempered glass to the exterior and (1) lite of laminated glass to the interior
	Glazing System Exterior glazed with a multi-fin gasket back-bedding and a screw applied pressure plate with (2) strips multi-fin gasket. The 1/4 - 20 x 2 1/2 HWH type F and 1/4 - 20 x 3 HWH screws were located 64 mm and 70 mm (2.5" and 2.75") on cente...
	Weatherstrip No weatherseals employed
	Reinforcement No reinforcement employed
	Weep Description
	Size 19.05 mm (0.75") Gap in sill pan sponge gasket
	Location Sill/ rafter intersection
	Interior/ Exterior
	Surface Finish Painted aluminum
	Sealant
	Location Exterior perimeter of the glazing, horizontal member back-bedding flashing to frame
	Material Silicone
	Insect Screen No screen employed
	Installation Method The assembly was installed in a steel/ plywood test chamber. The assembly was fastened to the chamber with aluminum angles at each end of the rafters. The angles were fastened to the chamber with (2)  1/2 – 13 x 1 – 1/2 grade 5 Hex...
	Test Results - TAS 202
	Test Method Test
	Test Method Test
	Test Results - TAS 201
	Test
	Large Missile Impact
	Type and weight of missile
	#2 Southern Yellow Pine 2x4, Length 102" & 9 lbs Speed 50.0 ft/ sec.
	Location
	Specimen 2
	Specimen 3
	Specimen 4
	Test Results - TAS 203
	Test
	Cyclic Wind Pressure Loading
	Test Results - TAS 203 (continued)
	Test
	Cyclic Wind Pressure Loading
	Test Method Test
	National Certified Testing Laboratories

		2022-01-05T08:50:02-0500
	Joseph Reed


		2022-01-05T08:50:10-0500
	Joseph Reed


		2022-01-05T08:50:19-0500
	Joseph Reed




